BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024
1988-40003 (9.2)

TOTAL AMOUNT BID

1) CROSTEX CONSTRUCTION INC.	\$1,663,000.00
2) CE BARKER LTD.	\$1,747,287.65
3) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$1,795,478.30
4) R CONSTRUCTION CIVIL, LLC	\$1,839,289.15
5) BAY UTILITIES, LLC	\$1,847,893.70
6) BLAZEY CONSTRUCTION SERVICES LLC	\$1 864 706 60

BIDDER'S NAME

CALENDAR DAYS - 50/60

Amanda Carriage, P.E., hereby certify these bid tabulations to be true and correct.

AMANDA CARRIAGE
3. 105912
CENSE

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024

				1) CROSTEX CONSTRUCTION INC.		2) CE BARK	2) CE BARKER LTD.		3) KENNETH LAMB CONSTRUCTION COLTD.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
WATER DISTRIBU	ITION SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)									
1 FULL CONS	TRUCTION STAKING OF WS&D ITEMS, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$16,000.00	\$16,000.00	\$50.00	\$50.00	
FITTINGS (FER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL FES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, FEC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	315	\$29.25	\$9,213,75	\$32.25	\$10,158.75	\$36.00	\$11,340.00	
FITTINGS (TER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, , ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	4455	\$34.50	\$153,697.50	\$39.00	\$173,745.00	\$47.00	\$209,385.00	
4 6" AWWA G	ATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$1,650.00	\$1,650,00	\$1,421.00	\$1,421.00	
5 8" AWWA G	ATE VALVE AND BOX, COMPLETE IN PLACE	EA	13	\$1,900.00	\$24,700.00	\$2,200.00	\$28,600,00	\$2,057,00	\$26,741,00	
6 FLUSHING BOX, LEAD	VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6° GATE VALVE & AND FLUSHING VALVE AND TRENCH SAFETY, COMPLETE IN PLACE	EA	11	\$6,450.00	\$70,950,00	\$6,210,00	\$68,310.00	\$6,361,00	\$69,971.00	
7 2" BLOW-OI	FF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$460,00	\$920.00	\$500,00	\$1,000.00	\$1,104.00	\$2,208,00	
8 PLUG AND	CLAMP (ALL SIZES AND DEPTHS), COMPLETE IN PLACE	EA	2	\$220.00	\$440.00	\$500,00	\$1,000.00	\$298.00	\$596,00	
	SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEAD, ALL DEPTHS, METER BOX, CURB STOP, TAPS AND ALL NECESSARY FITTINGS, ETC,. IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$1,050.00	\$1,050.00	\$2,035.00	\$2,035,00	
ASSEMBLY, SIZES, ALL	OF EXISTING PLUG & CLAMP (ALL SIZES), 2° BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, ALL DEPTHS, ADDITIONALLY INCLUDES ALL NECESSARY ADAPTERS AND RS, AND DISINFECTION OF EXISTING WATER LINE AS APPLICABLE, IN PLACE	EA	2	\$400.00	\$800.00	\$500.00	\$1,000.00	\$1,050.00	\$2,100.00	
11 TRENCH SA	FETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4770	\$0.10	\$477,00	\$0.10	\$477,00	\$2.00	\$9,540,00	
WATER DISTRIBU	TION SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$278,748.25		\$302,990.75		\$335,387.00	
SANITARY SEWE	R SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)					The state of the state of				
	(ER PIPE, ASTM D-2241, SDR 26, 0' - 12' DEPTH, INCLUDES STANDARD ND BACKFILL, COMPLETE IN PLACE	LF	3443	\$38,75	\$133,416.25	\$55,00	\$189,365.00	\$40,00	\$137,720,00	
2 8" PVC SEW BEDDING A	ER PIPE, ASTM D-2241, SDR 26, 12' - 16' DEPTH, INCLUDES STANDARD ND BACKFILL, COMPLETE IN PLACE	LF	169	\$43,00	\$7,267.00	\$65.00	\$10,985.00	\$44.00	\$7,436,00	
3 12" PVC SET BEDDING A	WER PIPE, ASTM D-2241, SDR 26, 12' - 16' DEPTH, INCLUDES STANDARD ND BACKFILL, COMPLETE IN PLACE	LF	833	\$74.00	\$61,642.00	\$80.00	\$66,640.00	\$72,00	\$59,976,00	
	WER PIPE, ASTM D-2241, SDR 26, 16' - 20' DEPTH, INCLUDES STANDARD ND BACKFILL, COMPLETE IN PLACE	LF	574	\$83,00	\$47,642.00	\$85,00	\$48,790.00	\$87.00	\$49,938,00	
5 10" PVC FOI INCLUDES F COMPLETE	RCEMAIN, AWWA C-900, DR-18, CLASS 235, COLOR GREEN, ALL DEPTHS, FITTINGS AND RESTRAINED JOINTS, AND ALL OTHER APPURTENANCES, IN PLACE	LF	786	\$51.00	\$40,086,00	\$80.00	\$47,160.00	\$60.00	\$47,160.00	
6 20" PVC EN COMPLETE	CASEMENT FOR 10" FORCEMAIN, EXCLUDES CARRIER PIPE, ALL DEPTHS, IN PLACE	LF	40	\$75,00	\$3,000.00	\$210.00	\$8,400.00	\$126,00	\$5,040,00	
PLASTIC IN	4' DIAMETER SANITARY SEWER MANHOLE (0' - 8' DEPTH), INCLUDES FLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND STEMENTS AS REQUIRED, COMPLETE IN PLACE	EA	12	\$4,300.00	\$51,600.00	\$4,200.00	\$50,400.00	\$3,901.00	\$46,812.00	

1968-40003 (9.2)

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024
1988-40003 (9.2)

				1) CROSTEX CONSTRUCTION INC.		2) CE BARKER LTD.		3) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8	STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (0' - 8' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTEMENTS AS REQUIRED, COMPLETE IN PLACE	EA	25	\$6,400.00	\$160,000.00	\$5,500.00	\$137,500.00	\$5,259.00	\$131,475.00
9	EXTRA DEPTH FOR ALL SIZES SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	146.12	\$550,00	\$80,366,00	\$500,00	\$73,060.00	\$370,00	\$54,064.40
10	STANDARD SANITARY SEWER DROP CONNECTION, AS PER DETAIL ON PLANS, COMPLETE IN PLACE	EA	5	\$700,00	\$3,500.00	\$1,500.00	\$7,500.00	\$1,442.00	\$7,210,00
11	EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER DROP STRUCTURE, AS PER DETAIL ON PLANS, COMPLETE IN PLACE	VF	13.07	\$70.00	\$914.90	\$150.00	\$1,960.50	\$70.00	\$914,90
12	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1266	\$39.75	\$50,323,50	\$55,00	\$69,630 00	\$74.00	\$93,684.00
13	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, TRENCH SAFETY, DROP STRUCTURES, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	42	\$1,175.00	\$49,350.00	\$1,950.00	\$81,900.00	\$2,155.00	\$90,510,00
14	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDE UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDING CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	EA		\$750.00	\$3,000.00	\$100.00	\$400.00	\$100.00	\$400.00
15	APCO 200 AIR RELEASE VALVE AND STRUCTURE FOR FORCEMAIN, ALL SIZES, ALL DEPTHS, INCLUDES FITTINGS AND ALL OTHER APPURTENANACES, COMPLETE IN PLACE	EA	0,1	\$4,600.00	\$4,600.00	\$6,000.00	\$8,000.00	\$13,505.00	\$13,505.00
16	SANITARY SEWER PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$580,00	\$2,320,00	\$500,00	\$2,000.00	\$889,00	\$3,556,00
17	REMOVAL OF EXISTING SANITARY PLUG AND CONNECT TO PROPOSED SANITARY SEWER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$250.00	\$1,000.00	\$1,000.00	\$4,000,00	\$200,00	\$800,00
18	FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	37	\$100,00	\$3,700.00	\$100.00	\$3,700.00	\$1.00	\$37,00
19	T.V. INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	5019	\$2.00	\$10,038.00	\$2.00	\$10,038.00	\$2.00	\$10,038.00
20	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	7071	\$0.10	\$707.10	\$0.10	\$707.10	\$2.00	\$14,142.00
21	10" PVC FORCEMAIN OFFSET ASSEMBLY, INCLUDES MECHANICALLY RESTRAINED JOINTS, BENDS, ADAPTERS, FLANGES, INSTALLATION KITS, COATING, AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	LF	65	\$133.00	\$8,645.00	\$200.00	\$13,000.00	\$162.00	\$10,530.00
SANIT	TARY SEWER SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$723,117.75		\$833,135.60		\$784,948.30
DRAI	NAGE FACILITIES ITEMS - INTERNAL (MAGNOLIA WOODS MUD NO. 2)								
1	24° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1674	\$77,50	\$129,735.00	\$88,00	\$147,312.00	\$81,00	\$135,594.00
2	30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	872	\$98.00	\$85,456.00	\$108.00	\$94,176.00	\$103,00	\$89,816.00
3	36° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	13	\$135.00	\$1,755.00	\$148,00	\$1,924.00	\$147.00	\$1,911.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024
1968-40003 (9.2)

		1) CROSTEX CONSTRUCTION INC.		2) CE BARK	KER LTD.	3) KENNETH LAMB CONSTRUCTION CO.,LTD.			
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	12" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	65	\$179.00	\$11,635,00	\$190,00	\$12,350,00	\$213.00	\$13,845,00
	18° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	209	\$215,00	\$44,935,00	\$226,00	\$47,234.00	\$249 00	\$52,041.00
1	30" R.C.P. STORM SEWER OUTFALL STRUCTURE, INCLUDES CONCRETE SLOPE PAVING WITH 2" TOE WALL ALONG FLOWLINE TRIBUTARY, 4:1 SET, 2" TOE WALL ON ALL OTHER SIDES, ALL OTHER APPURTENANCES INCLUDING RIP-RAP, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$17,500,00	\$35,000.00	\$3,500.00	\$7,000 00	\$7,101,00	\$14,202.00
,	18" R.C.P. STORM SEWER OUTFALL STRUCTURE, INCLUDES CONCRETE SLOPE PAVING WITH 2" TOE WALL ALONG FLOWLINE TRIBUTARY, 4:1 SET, 2" TOE WALL ON ALL OTHER SIDES, ALL OTHER APPURTENANCES INCLUDING RIP-RAP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$25,000.00	\$25,000.00	\$4,500.00	\$4,500.00	\$10,701,00	\$10,701.00
	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	25	\$3,500.00	\$87,500.00	\$2,800.00	\$70,000.00	\$3,317,00	\$82,925.00
9 1	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$5,800.00	\$17,400.00	\$6,000.00	\$18,000.00	\$4,544.00	\$13,632.00
(STAGE I - STANDARD 5' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE INLET "C") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	15	\$3,000,00	\$45,000,00	\$2,760,00	\$41,400,00	\$1,451.00	\$21,765.00
	STAGE II – STANDARD 5' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE NLET ("C"), COMPLETE IN PLACE	EA	15	\$700.00	\$10,500.00	\$1,840.00	\$27,600.00	\$2,711.00	\$40,665,00
1	STAGE I – STANDARD 10' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE NLET ("C-1") ON REINFORCED CONCRETE JUNCTION BOX, ALL DEPTHS, INCLUDES NLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	3	\$3,000.00	\$9,000,00	\$3,080,00	\$9,180,00	\$1,451.00	\$4,353.00
	STAGE II – STANDARD 10' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE NLET ("C-1") ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$1,000.00	\$3,000.00	\$2,040.00	\$6,120.00	\$3,511.00	\$10,533.00
1	STAGE I – STANDARD 15' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE NLET ("C-2") ON REINFORCED CONCRETE JUNCTION BOX, ALL DEPTHS, INCLUDES NLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$3,420.00	\$3,420,00	\$1,451,00	\$1,451.00
	STAGE II – STANDARD 15' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE NLET ("C-2") ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$2,280.00	\$2,280,00	\$4,161.00	\$4,161.00
F	VATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE FOR ONSITE FILL, INCLUDING EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	6830	\$1.50	\$10,245.00	\$1.00	\$6,830.00	\$2.00	\$13,660.00
17 F	INAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	28	\$100.00	\$2,800.00	\$100.00	\$2,800.00	\$1,00	\$28,00
TI II F	EXCAVATION AND GRADING OF DRAINAGE CHANNELS AS PER SHEETS 11 AND 16 OF THE CONSTRUCTION PLANS, (ALL DEPTHS), SPOILS TO USED FOR ONSITE FILL, NCLUDING EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, HYDROMULCH SEEDING PER SWMHCA PECIFICATION NO. 4241 (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	1500	\$8,00	\$12,000.00	\$4.00	\$6,000.00	\$10.00	\$15,000.00
E	OVERFLOW DRAINAGE SWALE, 2' BOTTOM WITH 3:1 SIDE SLOPES, INCLUDES EXCAVATION HAULING, GRADING, AND INSTALLATION OF NON-WOVEN POLYESTER ILLTER FABRIC, TREVIRA, ARMORMAX OR APPROVED EQUAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	461	\$25.00	\$11,525.00	\$10.00	\$4,610.00	\$82.00	\$37,802.00

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO, 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024
1988-40003 (9.2)

				, ,					
				1) CROSTEX CONS	TRUCTION INC.	2) CE BARK	ER LTD.	3) KENNETH LAMB	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
20	INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
21	18" RIP RAP, (GRADE 1) WITH 8" TOP SOIL, COMPLETE IN PLACE	SY	100	\$100,00	\$10,000.00	\$50.00	\$5,000.00	\$110,00	\$11,000.00
22	CLEANOUT AND TOTAL DISILTING OF STORM SEWER WITHIN SECTION UPON FINAL INSPECTION, COMPLETE IN PLACE	LF	2833	\$2,00	\$5,666.00	\$2.00	\$5,666,00	\$2.00	\$5,666,00
23	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	2833	\$0.05	\$141,65	\$0.10	\$283.30	\$2.00	\$5,686.00
DRA	NAGE FACILITIES ITEMS - INTERNAL (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$566,093.65		\$525,185.30		\$587,917.00
MISC	ELLANEOUS ITEMS								
1	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,574,35	\$1,574.35	\$250,00	\$250,00	\$1,500.00	\$1,500.00
2	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE	EA	1	\$1,500,00	\$1,500.00	\$1,500,00	\$1,500,00	\$1,500.00	\$1,500.00
3	EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ONLY AT THE DIRECTION OF ENGINEER) COMPLETE IN PLACE	CY	500	\$20.00	\$10,000.00	\$20,00	\$10,000,00	\$20,00	\$10,000.00
4	DEWATERING OF RIGHT OF WAY, ALL DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1850	\$20.00	\$37,000.00	\$20.00	\$37,000.00	\$20.00	\$37,000.00
5	EXTRA WATER LINE FITTINGS, COMPLETE IN PLACE	TON	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$100.00	\$100,00
6	EXTRA COST OF SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1576	\$12.00	\$18,912.00	\$12,00	\$18,912,00	\$12.00	\$18,912.00
	EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	274	\$16.00	\$4,384.00	\$16.00	\$4,384.00	\$16.00	\$4,384.00
8	EXTRA COST OF WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150,00	\$150,00	\$150.00
	DEWATERING OF CHANNEL BOTTOM AND SIDE SLOPES TO ALLOW FOR EXCAVATION, AS PER DEWATERING TECHNICAL SPECIFICATIONS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	684	\$30,00	\$20,520.00	\$20.00	\$13,680.00	\$20.00	\$13,680.00
MISCI	ELLANEOUS ITEMS SUBTOTAL;				\$95,040.35		\$85,976.00		\$87,226.00
BIDDI	NG SUMMARY								
SUBT	OTAL WATER DISTRIBUTION SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)				\$278,748.25		\$302,990.75		\$335,387.00
SUBT	OTAL SANITARY SEWER SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)				\$723,117.75		\$833,135.60		\$784,948.30
SUBT	OTAL DRAINAGE FACILITIES ITEMS - INTERNAL (MAGNOLIA WOODS MUD NO. 2)				\$566,093.65		\$525,185.30		\$587,917,00
SUBT	OTAL MISCELLANEOUS ITEMS				\$95,040.35		\$85,976.00		\$87,226.00
TOTA	L AMOUNT BASE BID				\$1,663,000.00		\$1,747,287.65		\$1,795,478.30

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024

LJA JOB NO.				AY 21, 2024 68-40003 (9.2)					
				4) R CONSTRUCTI	ON CIVIL, LLC	5) BAY UTILIT	TIES. LLC	6) BLAZEY CONSTRUCT	ION SERVICES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER DISTRIBUTION SYSTEM	I ITEMS - (MAGNOLIA WOODS MUD NO. 2)								
1 FULL CONSTRUCTION ST	AKING OF WS&D ITEMS, COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$17,000.00	\$17,000.00	\$18,700.00	\$18,700.00
FITTINGS (TEES, BENDS,	WA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL TRACER WIRE, CONNECTORS, THRUST BLOCKS, NG AND BACKFILL, COMPLETE IN PLACE	LF	315	\$37.00	\$11,655.00	\$29,00	\$9,135,00	\$31,00	\$9,765.00
FITTINGS (TEES, BENDS,	WA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL TRACER WIRE, CONNECTORS, THRUST BLOCKS, NG AND BACKFILL, COMPLETE IN PLACE	LF	4455	\$40.00	\$178,200.00	\$38.00	\$169,290.00	\$38.00	\$169,290.00
4 6" AWWA GATE VALVE A	ND BOX, COMPLETE IN PLACE	EA	1	\$1,500,00	\$1,500,00	\$1,300,00	\$1,300.00	\$1,320.00	\$1,320.00
5 8" AWWA GATE VALVE A	ND BOX, COMPLETE IN PLACE	EA	13	\$2,150,00	\$27,950.00	\$2,000,00	\$26,000.00	\$1,950.00	\$25,350,00
	ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & G VALVE AND TRENCH SAFETY, COMPLETE IN PLACE	EA	11	\$7,150,00	\$78,650.00	\$5,600,00	\$61,600,00	\$7,000.00	\$77,000.00
7 2" BLOW-OFF VALVE AND	BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$700,00	\$1,400.00
8 PLUG AND CLAMP (ALL S	IZES AND DEPTHS), COMPLETE IN PLACE	EA	2	\$220.00	\$440.00	\$350.00	\$700.00	\$440,00	\$880.00
9 LONG SIDE SINGLE 1° CT BACKFILL, METER BOX, C COMPLETE IN PLACE	S DR9 POLY TUBING WATER SERVICE LEAD, ALL DEPTHS, CURB STOP, TAPS AND ALL NECESSARY FITTINGS, ETC,.	EA	1	\$4,300.00	\$4,300.00	\$1,700.00	\$1,700.00	\$2,700.00	\$2,700.00
ASSEMBLY, AND CONNEC SIZES, ALL DEPTHS, ADD	PLUG & CLAMP (ALL SIZES), 2" BLOW-OFF VALVE & BOX CT PROPOSED WATER LINE TO EXISTING WATER LINE, ALL ITIONALLY INCLUDES ALL NECESSARY ADAPTERS AND NFECTION OF EXISTING WATER LINE AS APPLICABLE,	EA	2	\$400.00	\$800.00	\$2,000.00	\$4,000.00	\$700.00	\$1,400.00
11 TRENCH SAFETY, ALL SIZ	ZES AND DEPTHS, COMPLETE IN PLACE	LF	4770	\$0.10	\$477,00	\$0.10	\$477.00	\$0.11	\$524.70
WATER DISTRIBUTION SYSTEM	ITEMS - (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$334,972.00		\$292,402.00		\$308,329.70
SANITARY SEWER SYSTEM ITE	MS - (MAGNOLIA WOODS MUD NO. 2)								
1 8" PVC SEWER PIPE, AST BEDDING AND BACKFILL,	M D-2241, SDR 26, 0' - 12' DEPTH, INCLUDES STANDARD COMPLETE IN PLACE	LF	3443	\$45.00	\$154,935.00	\$50,00	\$172,150,00	\$47,00	\$161,821.00
2 8" PVC SEWER PIPE, AST BEDDING AND BACKFILL,	M D-2241, SDR 26, 12' - 16' DEPTH, INCLUDES STANDARD COMPLETE IN PLACE	LF	169	\$45.25	\$7,647.25	\$52,00	\$8,788.00	\$51.00	\$8,619.00
3 12" PVC SEWER PIPE, AS BEDDING AND BACKFILL,	TM D-2241, SDR 26, 12' - 16' DEPTH, INCLUDES STANDARD COMPLETE IN PLACE	LF	833	\$76.00	\$63,308.00	\$76.00	\$63,308,00	\$72.00	\$59,976.00
4 12" PVC SEWER PIPE, AS BEDDING AND BACKFILL,	TM D-2241, SDR 26, 16' - 20' DEPTH, INCLUDES STANDARD COMPLETE IN PLACE	LF	574	\$78,00	\$44,772.00	\$82.00	\$47,068.00	\$83.00	\$47,642.00
	WA C-900, DR-18, CLASS 235, COLOR GREEN, ALL DEPTHS, RESTRAINED JOINTS, AND ALL OTHER APPURTENANCES,	LF	786	\$57,00	\$44,802.00	\$52.00	\$40,872.00	\$51.00	\$40,086.00
6 20" PVC ENCASEMENT FO COMPLETE IN PLACE	OR 10" FORCEMAIN, EXCLUDES CARRIER PIPE, ALL DEPTHS,	LF	40	\$90.00	\$3,600.00	\$260,00	\$10,400,00	\$210,00	\$8,400.00
PLASTIC INFLOW PROTEC	SANITARY SEWER MANHOLE (0' - 8' DEPTH), INCLUDES CTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND S REQUIRED, COMPLETE IN PLACE	EA	12	\$4,250.00	\$51,000,00	\$4,100.00	\$49,200,00	\$3,600.00	\$43,200.00

3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND LF BACKFILL, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024

LJA JOB NO.	ME.			AY 21, 2024 68-40003 (9.2)					
				4) R CONSTRUCT	ION CIVIL, LLC	5) BAY UTILIT	ES, LLC	6) BLAZEY CONSTRUCT	TION SERVICES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PLASTIC IN	D 5' DIAMETER SANITARY SEWER MANHOLE (0' - 8' DEPTH), INCLUDES NFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND USTEMENTS AS REQUIRED, COMPLETE IN PLACE	EA	25	\$6,350.00	\$158,750.00	\$6,200,00	\$155,000.00	\$6,000.00	\$150,000.00
	PTH FOR ALL SIZES SANITARY SEWER MANHOLE (OVER 8' DEPTH), E IN PLACE	VF	146.12	\$450.00	\$65,754.00	\$455.00	\$66,484.60	\$500,00	\$73,060.00
	D SANITARY SEWER DROP CONNECTION, AS PER DETAIL ON PLANS, E IN PLACE	EA	5	\$640.00	\$3,200.00	\$800,00	\$4,000.00	\$1,250.00	\$6,250,00
	RTICAL DEPTH OF STANDARD SANITARY SEWER DROP STRUCTURE, AS IL ON PLANS, COMPLETE IN PLACE	VF	13.07	\$25.00	\$326,75	\$30,00	\$392.10	\$48,00	\$627.36
CLASS 160 WYE, PLUC	E" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, D, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, G, STACK, MARKER, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, IPLETE IN PLACE	LF	1266	\$72.50	\$91,785.00	\$65,00	\$82,290,00	\$67.00	\$84,822.00
26, CLASS WYE, PLUC	DE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 180, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, G, STACK, MARKER, TRENCH SAFETY, DROP STRUCTURES, AND ANY RY FITTINGS, ETC., COMPLETE IN PLACE	EA	42	\$1,400,00	\$58,800.00	\$2,100.00	\$88,200,00	\$1,800.00	\$75,600.00
FOR BOTH	AL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, JPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE I WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND ED JOINT FITTINGS, INCLUDING CEMENT STABILIZED SAND BACKFILL, E IN PLACE	EA	4	\$2,800,00	\$11,200.00	\$1,000.00	\$4,000.00	\$4,750.00	\$19,000.00
	AIR RELEASE VALVE AND STRUCTURE FOR FORCEMAIN, ALL SIZES, ALL NCLUDES FITTINGS AND ALL OTHER APPURTENANACES, COMPLETE IN	EA		\$2,600,00	\$2,600.00	\$13,000.00	\$13,000.00	\$6,750.00	\$6,750.00
16 SANITARY	SEWER PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$600,00	\$2,400.00	\$100,00	\$400.00	\$450.00	\$1,800,00
	OF EXISTING SANITARY PLUG AND CONNECT TO PROPOSED SANITARY NE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$200,00	\$800,00	\$1,400.00	\$5,800,00	\$460,00	\$1,840,00
18 FINAL ADJ	USTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	37	\$150,00	\$5,550,00	\$75,00	\$2,775.00	\$110.00	\$4,070,00
	CTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN N OF THE ENGINEER), COMPLETE IN PLACE	LF	5019	\$2.75	\$13,802.25	\$2,00	\$10,038.00	\$3.40	\$17,064.60
20 TRENCH S	AFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	7071	\$0.10	\$707.10	\$1.00	\$7,071.00	\$0.11	\$777,81
JOINTS, BE	DRCEMAIN OFFSET ASSEMBLY, INCLUDES MECHANICALLY RESTRAINED ENDS, ADAPTERS, FLANGES, INSTALLATION KITS, COATING, AND ALL PURTENANCES, COMPLETE IN PLACE	LF	65	\$145.00	\$9,425.00	\$145,00	\$9,425.00	\$180.00	\$11,700.00
SANITARY SEWE	R SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$795,164.35		\$840,461.70		\$823,105.77
DRAINAGE FACIL	LITIES ITEMS - INTERNAL (MAGNOLIA WOODS MUD NO. 2)								
	ORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND COMPLETE IN PLACE	LF	1674	\$92.00	\$154,008.00	\$80,00	\$133,920.00	\$90,00	\$150,660.00
	ORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND COMPLETE IN PLACE	LF	872	\$118.00	\$102,896.00	\$104.00	\$90,688.00	\$117.00	\$102,024.00

\$2,119.00

\$160.00

\$2,080.00

\$141.00

\$1,833.00

\$163.00

13

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO, 2
CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS
MAY 21, 2024
LJA ENGINEERING, INC.
D. FORREST
MAY 21, 2024

4) R	CONSTRI	ICTION	CIVII	TIC

1968-40003 (9.2)

5) BAY UTILITIES, LLC

6) BLAZEY CONSTRUCTION SERVICES LLC

							1400		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	M SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND APLETE IN PLACE	LF	65	\$210,00	\$13,650,00	\$195,00	\$12,675,00	\$216,00	\$14,040,00
5 48" RCP STORM BACKFILL, COM	M SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND IPLETE IN PLACE	LF	209	\$250,00	\$52,250,00	\$223,00	\$46,607.00	\$264,00	\$55,176,00
PAVING WITH 2	RM SEWER OUTFALL STRUCTURE, INCLUDES CONCRETE SLOPE 2' TOE WALL ALONG FLOWLINE TRIBUTARY, 4:1 SET, 2' TOE WALL ON DES, ALL OTHER APPURTENANCES INCLUDING RIP-RAP, ALL DEPTHS, PLACE	EA	2	\$7,400,00	\$14,800.00	\$12,000,00	\$24,000.00	\$10,500.00	\$21,000,00
PAVING WITH 2	RM SEWER OUTFALL STRUCTURE, INCLUDES CONCRETE SLOPE 2' TOE WALL ALONG FLOWLINE TRIBUTARY, 4:1 SET, 2' TOE WALL ON DES, ALL OTHER APPURTENANCES INCLUDING RIP-RAP, ALL DEPTHS, PLACE	EA	1	\$15,000.00	\$15,000,00	\$21,000,00	\$21,000,00	\$15,500,00	\$15,500.00
8 REINFORCED O SMALLER, ALL	CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWERS AND DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	25	\$3,150.00	\$78,750.00	\$2,600,00	\$65,000,00	\$3,200.00	\$80,000.00
	CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, NCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	3	\$5,850,00	\$17,550.00	\$3,800.00	\$11,400.00	\$5,600.00	\$16,800,00
	NDARD 5' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE INLET 4S, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, PLACE	EA	15	\$2,180,00	\$32,700.00	\$3,300.00	\$49,500.00	\$2,400.00	\$36,000.00
	NDARD 5' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE MPLETE IN PLACE	EA	15	\$2,600 00	\$39,000.00	\$1,200.00	\$18,000.00	\$2,350.00	\$35,250.00
INLET ("C-1") OF	NDARD 10' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE IN REINFORCED CONCRETE JUNCTION BOX, ALL DEPTHS, INCLUDES TION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	3	\$2,200.00	\$6,600,00	\$3,500,00	\$10,500.00	\$2,550.00	\$7,650.00
	NDARD 10' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE LL DEPTHS, COMPLETE IN PLACE	EA	3	\$2,600.00	\$7,800.00	\$1,400.00	\$4,200,00	\$2,850,00	\$8,550.00
INLET ("C-2") ON	NDARD 15' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE IN REINFORCED CONCRETE JUNCTION BOX, ALL DEPTHS, INCLUDES TION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	1	\$2,200,00	\$2,200.00	\$3,700.00	\$3,700.00	\$2,800.00	\$2,800.00
	NDARD 15' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE L DEPTHS, COMPLETE IN PLACE	EA	1	\$2,600.00	\$2,600.00	\$1,600.00	\$1,600.00	\$3,500.00	\$3,500.00
FILL, INCLUDING	ARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE FOR ONSITE G EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% DCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	6830	\$3,15	\$21,514.50	\$6,00	\$40,980.00	\$2.20	\$15,026,00
17 FINAL ADJUSTA	MENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	28	\$150,00	\$4,200.00	\$75.00	\$2,100.00	\$110.00	\$3,080.00
THE CONSTRUCTION INCLUDING EXC PROCTOR DENI	ND GRADING OF DRAINAGE CHANNELS AS PER SHEETS 11 AND 16 OF CTION PLANS, (ALL DEPTHS), SPOILS TO USED FOR ONSITE FILL, SAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD SITY WITH MAXIMUM 8" LIFTS, HYDROMULCH SEEDING PER SWMHCA INO. 4241 (TO BE USED ONLY AS DIRECTED BY ENGINEER), PLACE	CY	1500	\$2.80	\$4,200.00	\$18.00	\$27,000.00	\$9.00	\$13,500.00
EXCAVATION H	AINAGE SWALE, 2' BOTTOM WITH 3:1 SIDE SLOPES, INCLUDES AULING, GRADING, AND INSTALLATION OF NON-WOVEN POLYESTER , TREVIRA, ARMORMAX OR APPROVED EQUAL (TO BE USED ONLY AS HE ENGINEER), COMPLETE IN PLACE	LF	461	\$10.00	\$4,610.00	\$36.00	\$16,596.00	\$20.00	\$9,220.00

BID TABULATION FOR:

BID OPENING DATE: **BID OPENING LOCATION:** TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, & DRAINAGE FACILITIES TO SERVE COLTON SECTION 3
MAGNOLIA WOODS MUNICIPAL UTILITY DISTRICT NO. 2 CITY OF TODD MISSION, MONTGOMERY COUNTY, TEXAS MAY 21, 2024 LJA ENGINEERING, INC. D. FORREST MAY 21, 2024 1968-40003 (9.2)

LJA JOB NO.			19	968-40003 (9.2)					
				4) R CONSTRUCT	ION CIVIL, LLC	5) BAY UTILI	TIES, LLC	6) BLAZEY CONSTRUC	TION SERVICES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SPECIFICATION NO. 4	REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA 1711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$2,400.00	\$2,400.00
21 18" RIP RAP, (GRADE	1) WITH 8" TOP SOIL, COMPLETE IN PLACE	SY	100	\$140,00	\$14,000,00	\$109.00	\$10,900.00	\$105,00	\$10,500.00
22 CLEANOUT AND TOTA INSPECTION, COMPLI	AL DISILTING OF STORM SEWER WITHIN SECTION UPON FINAL ETE IN PLACE	LF	2833	\$5,00	\$14,165,00	\$2.00	\$5,666.00	\$4,50	\$12,748.50
23 TRENCH SAFETY SYS	STEM, ALL DEPTHS, COMPLETE PLACE	LF	2833	\$0.10	\$283,30	\$1.00	\$2,833.00	\$0,11	\$311,63
DRAINAGE FACILITIES ITEM	S - INTERNAL (MAGNOLIA WOODS MUD NO. 2) SUBTOTAL:				\$606,356.80		\$603,598.00		\$617.855,13
MISCELLANEOUS ITEMS									
1 STORMWATER POLLU ACCORDING TO TOE	JTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS O PERMIT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$1,800,00	\$1,800.00	\$1,700,00	\$1,700.00
2 STABILIZED CONSTRU COMPLETE IN PLACE	JCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE,	EA	1	\$1,500.00	\$1,500.00	\$1,500,00	\$1,500.00	\$1,500.00	\$1,500.00
	BILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ION OF ENGINEER) COMPLETE IN PLACE	CY	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$40.00	\$20,000,00
	HT OF WAY, ALL DEPTHS, (TO BE USED ONLY AT THE NGINEER), COMPLETE IN PLACE	LF	1850	\$25,00	\$46,250.00	\$29.00	\$53,650.00	\$25.00	\$46,250.00
5 EXTRA WATER LINE F	FITTINGS, COMPLETE IN PLACE	TON	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
	ITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN	LF	1578	\$12.00	\$18,912.00	\$12.00	\$18,912.00	\$12.00	\$18,912.00
7 EXTRA COST OF STOI DEPTHS, (TO BE USE) PLACE	RM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN	LF	274	\$16.00	\$4,384.00	\$16.00	\$4,384.00	\$16.00	\$4,384.00
	SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO BE IRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150,00	\$150.00	\$150,00	\$150.00	\$150.00
EXCAVATION, AS PER	ANNEL BOTTOM AND SIDE SLOPES TO ALLOW FOR EDEWATERING TECHNICAL SPECIFICATIONS, (TO BE USED IN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	684	\$25.00	\$17,100.00	\$29.00	\$19,836.00	\$30.00	\$20,520.00
MISCELLANEOUS ITEMS SU	BTOTAL:				\$102,796.00		\$111,232.00		\$115,416.00
BIDDING SUMMARY									
SUBTOTAL WATER DISTRIBI	UTION SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)				\$334,972.00		\$292,402.00		\$308.329.70
SUBTOTAL SANITARY SEWE	R SYSTEM ITEMS - (MAGNOLIA WOODS MUD NO. 2)				\$795,164,35		\$840,461.70		\$823,105,77
SUBTOTAL DRAINAGE FACIL	LITIES ITEMS - INTERNAL (MAGNOLIA WOODS MUD NO. 2)				\$606,356.80		\$603,598.00		\$617,855.13
SUBTOTAL MISCELLANEOUS	SITEMS				\$102,796.00		\$111,232.00		\$115,416.00
TOTAL AMOUNT BASE BID					\$1,839,289.15		\$1,847,693.70		\$1,864,706.60